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5. Complete each of the following conversions between the Imperial and Sl systems. Show
your work using a conversion factor. Round to 1 decimal place where appropriate.

a) 5in. = _b, Hw cm b) 15 cm = mﬁ_ in.
DiNx A.54cMm DM x 11N
d.Z) o WL\GS\_
c) Am.ﬁ_ :Q S d) 40m = ixw_.w yd.
@g% q:cci 4omx | yd
Lyct 0.9 144
e) 3mi = F_‘AW km f) 5km= mw_ mi.
SMix (.LOAELM Om x 1L
(.60 EmM
| WL
g) 5mi.= m:wgﬂ nyekm=19 GBS .0
SMix |-609tm bLm=6000Mm x_[Ft
Toie O . 2DUE ML

= &0

6. Bobrana 10 mrm race in Washington State. That same weekend, his friend Jenny ran
the Victoria half marathon, which _m\m\m\_ km long. Who ran further and by how much?

Answer in x__o:;m,k:mm QI.@ = h_ —1b. OQ
I0Mix |.bDAN = |b.0A LM - 49) tm

I Jenny roN 41 bm furthac

7. Determine the surface area of each of the figures shown below. (2 marks each)

a) sides of square = 5 cm, slant height = 8 cm

QA .= 5% 4x5xD
2

NS

\i

\i

b) Ba_cm =6 ft., slant height = 9 ft.

Ve S.A.= ,_\:SJ%ASBV
— 2~
AN - ot

(62 XY
8. Determine the lateral area of the right cone shown below if the height is 80 inches and the
diameter is 120 inches. (3 marks)
= NS _
. SA =1 (60X100)
60 +80%=S J Q.6 “on
/180 10000 =82 = |18 849.56n
L O S =(00\n
9. The lateral area of a cone is 200 cm?. The diameter of the cone is 8 cm. Determine the
height of the cone to the nearest tenth of a centimetre. (3 marks) -
_ ¥ ;2 2 50
r=4cm 200=TT(4)S N h = (22)
.{).uq mwuﬂmlp J\ T jw <D w:.\
r

Lt




